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1->> eye(3,3)

2->>A=[1-11;122;301]
>> b=[5;10;1]
>> X=inv(A)*b

3->> sum=0;
for i=0:5:100
sum=sum-+i;
end
disp(sum)

4- n=-6;
if n<0
disp('input must be positive')
elseif rem(n,2)==
disp('input is even')
else
disp('input is odd")
end

5->>x=[10-1];
>> roots(x)

6->>x =2.6;
>>y1 = fix (x); y2 = floor (x); y3 = ceil (x); y4 = round (x);

7->>sqrt([9 1060 1])



8->>A =[1;2;4;6;50;0;100]
>> AG)=] |

9->> A=[135;24 6]
>> Al

10->> forn=1: 5
form=1:5
Amym)=n"2+m*2;

end;
disp (n);
end;
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A=[1,2,3;4,56] B=[2,3,4;5,6,7] C=[4,5;6,7;8,9]
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1- D=A+B
2- D=A+C
3- D=A*B
4- D=A.*B
5- D=C*A
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— 4y + 8z = 96 -
ey -7z — 45
+ 9y — 5z = 60
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